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QueueHandle_t LCDQueue;
OueueHandle_t  LOGQueue;
/BT 7+ FEE
SemaphoreHandle_t ADCSemaphore; A[ <7 #E%
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fex a2 —RER) S TTER oo/
union {

uint8_t Buf[20];

struct {

uint8_t kinds [ 2 5 —3E{E /Xy
float potl;

g 77 DEER
float pot?2;

tmes;
}Potent ;
fex SO— )N )VEHER s/
uint16_t result;

extern uint8_t LogFlag; // O5hosH

void TASK6_Initialize ( void )

{
/% Place the App state machine in its initial state. ¥/
taskBData.state = TASKE_STATE_INIT;
S% TODO: Initialize vour application’s state machine and
¥ parameters.
%/ .
ADCO_Enable () 4 ADCE L ]
Potent .mes.kind = "V’; [l =3Bt F
}
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case TASKE_STATE_SERVICE_TASKS:

{

fxxx TCAEZ7 74 Take *xx/

xSemaphoreTake (ADCSemaphore, portMaX _DELAY);
Jex POTIMDADZE R *+/

ADCO_ChannelSelect (ADC_POSINPUT_AINT4, ADC_NEGINPUT_GND);
ADCO_ConversionStart ()3
while(!ADCO_ConversionStatusGet ()); %E % E‘l’)ﬂu
result = ADCO_ConversionResultGet ();

Potent .nes.pot1 = (3.3 * result) / 4095;

Jxx POTZOADZEIR *x/

ADCO_Channe | Select (ADC_POSTNPUT_AIN15, ADC_NEGINPUT_GND);
ADCO_ConversionStart (J;

while(!ADCO_ConversionStatusGet (1);

AR5

result = ADCO_ConversionResultGet (); %ﬂ_—\t oz
Potent .nes.pot? = (3.3 * result) / 4095; = _ri;_é_{?
— =

/xx F 0 —~GX(F s/
¥OueueSend (LCDQueue, Potent.Buf, 0);
if(LogFlag == 1)

«OueveSend (LOGOueue,, Potent .Buf, 0);
break;
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